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1101 | K48 dbimE 180 1800 0 1800 10 0 0 0 1296 0 756
EE 149 1490 0 1490 10 0 0 0 1620 0 864
RE 12 180 0 180 15 0 0 0 1188 0 864
D 341 3470 0 3470
NB|FEFEAS [dtiEE 11 110 0 110 10 0 0 0 2160 0 1944
& 11 110 0 110
1141[54R BmE 6 12 0 12 2 0 0 0 0 1512 0
& 6 12 0 12
1201[83% % 30 450 0 450 15 0 0 0 2916 0 2700
& 30 450 0 450
1203[F ¥Ry [HE 118 1180 0 1180 10 0 0 0 1188 0 648
HE 95 1425 0 1425 15 0 0 0 1296 0 950
f=554 72 720 0 720 10 0 0 0 1188 0 1080
& 285 3325 0 3325
1204|GiR—JL  |EH 20 200 0 200 10 0 0 0 0 1112 0
) 20 200 0 200
1205[[F5NAE GH 35 140 0 140
1207| & & Eh 480 48 48 0
1209| B & B 10 30 0 30 3 0 0 0 1512 0 1404
) 10 30 0 30
1213][125 Gb 1450 145 0 145
1301[#aF mE 11 44 0 44 4 0 0 0 1944 0 1404
=) 98 490 0 490 5 0 0 0 2592 0 1404
= 12 72 0 72 6 0 0 0 972 0 540
[&0) 133 654 0 654
1311|F<F I B 120 480 0 480 4 0 0 0 1674 0 1620
(&) 130 520 0 520
1321 [HA R dLiEE 384 1920 0 1920 5 0 0 0 2592 0 1188
BiE 110 550 0 550 5 0 0 0 2592 0 2160
) 520 2650 0 2650
1331 | MM FEH» (&) 105 1050 0 1050
13651|E—<>  |[EE 630 95 0 95 0.15 0 0 0 108 0 103
x5 690 104 0 104 0.15 0 0 0 0 108 0
Eh 1320 198 0 198
1353| Tk =5 60 6 0 6 0.1 0 0 0 0 184 0
Eh 60 6 0 6
1355|455 ERE 400 40 0 40 0.1 0 0 0 0 70 0
[&0) 490 49 0 49
1361[R/Fa>  [RH 40 200 0 200 5 0 0 0 1663 0 1382
Eh 40 200 0 200
1371 L1 x5 20 60 0 60 3 0 0 0 1296 0 1080
Eh 32 96 0 96
1411 | BEF (&) 67 34 34 0
1501 [ H & EE 81 405 0 405 5 0 0 0 0 972 0
(&) 81 405 0 405
1521 B Gh 3 30 0 30
1541 [ E# EE 95 950 0 950 10 0 0 0 1728 0 1350
Gh 95 950 0 950
1603|tz)L) — =% 5 50 0 50 10 0 0 0 4320 0 3780
Gh 5 50 0 50
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1609[7Oval)  [diEE 90 720 0 720 8 0 0 0 3996 0 3629
& 90 720 0 720
1611[LER % 10 50 0 50 5 0 0 0 0 2160 0
E% 7 70 0 70 10 0 0 0 0 2160 0
GhH 17 120 0 120
16124 =L AR |[EF 5 25 0 25 5 0 0 0 0 2268 0
(&) 5 25 0 25
1627|S=k=<k  [dtiEE 111 333 0 333 3 0 0 0 3240 0 2441
GhH 111 333 0 333
1705| £ = fa 720 58 0 58 0.08 0 0 0 119 0 108
= E 3 12 0 12 4 0 0 0 0 5616 0
& 723 70 0 70
1803 | EHEE =) 1050 105 0 105 0.1 0 0 0 125 0 66
S 270 54 0 54 0.2 0 0 0 71 0 66
(&) 1890 216 0 216
1807 H E% 1860 372 0 372 0.2 0 0 0 72 0 57
=% 200 60 0 60 0.3 0 0 0 0 57 0
(&) 2060 432 0 432
1809[L&L E% 400 40 0 40 0.1 0 0 0 0 49 0
EF 1200 240 0 240 0.2 0 0 0 0 65 0
(&) 1600 280 0 280
* S FEET * 21630 32218 82 32136
2511[#k f=154 10 50 0 50 5 0 0 0 0 5076 0
Eh 10 50 0 50
2601|7597 |Li 90 27 0 27 0.3 0 0 0 0 389 0
(&) 90 27 0 27
2601 |E4A—2  |EL 2 4 0 4 2 0 0 0 0 5292 0
(D) 2 4 0 4
2616|S<AAL__[EL 12 8 0 8 0.7 0 0 0 0 3024 0
= 32 10 0 10 0.3 0 0 0 648 0 108
(&) 44 18 0 18
2701[7—JLR _ |5%HE 1 9 0 9 9 0 0 0 0 9180 0
(&) 1 9 0 9
2731|FE K ifiA 237 3555 0 3555 15 0 0 0 5400 0 756
(&) 237 3555 0 3555
2821 [ETER EE 1128 564 0 564 0.5 0 0 0 486 0 432
(&) 1128 564 0 564
* S FEET * 3024 8454 0 8454




